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EH3IH)

201 Let23d| 24,600 13,020 11,580
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O=s3HX )1 =222 &
5,000& *1,800% 9,000
02 2323l 15,600 2,820 12,780
S0 &t 15,600 2,820 12,780
O=s3HAl CV Stlg 2 II2s, 23
HEZE S &8IIR3 1,300,000 *12& 15,600

202 O4H| 1,200 1,200
01 2] 1,200 1,200
20/ & 1,200 1,200

Os3HX X2 FA Ol
20,000& x2H 303 1,200

207 AR 10,000 32,000 A22,000
01 A72E29d| 10,000 32,000 A22,000
=0 A 10,000 32,000 A22,000

O=BET BRAIY X3 2o
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401 AIEHIZLS0UIYI 80,600 451,600 A371,000
01 Al&H| 80,600 451,600 A371,000
20i & 80,600 451,600 A371,000

O=s3HX FXNE+
850,000& x3I A+ 12 30,600
OYAEs=sS A 222N FXNEHA
50,000&*1,000m’ 50,000
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201 Ler23d| 81,130 93,270 A12,140
01 AtR22teltl 21,130 24,270 A3,140
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o9l 2 R20IZRSYNR(SBEH)(A2S0II22Y) (
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SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
= 3,280
= 820
HASTDIMEOIY(SY ) (HASFOUMEOINI|Z) 690,552 662,240 28,312
NASS FOIMEOHNY K& 204,000 154,000 50,000
201 LB AH| 2,400 2,400 0
01 AtR2teld| 2,400 0 2,400
=0 A 2,400 0 2,400
OHMiEotN) |2 T2 SXIE2H|
2,400,000 %13] 2,400
202 04| 1,600 1,600
01 2LHAH Y] 1,600 1,600
=04t 1,600 1,600
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01 2IZ2tE X2 200,000 150,000 50,000
=0 A 200,000 150,000 50,000
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801 il |d| 486,552 508,240 A21,688
01 Btalbidl 486,552 508,240 N21,688
=0 A 486,552 508,240 A21,688
(@t:]1s]]s]] 486,552,000& *13] 486,552
MRES(FoI=2X0) (Aa2X /I =MESE) 21,223 0 21,223
SIS (9230 I=229) 21,223 0 21,223
Sl =10 D= SN ES 21,223 0 21,223
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= 1,190,000
J| 548,653
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SESIAE N (SH/MolEE - £=F) 1,898,503 438,972 1,459,531
= 1,190,000
J| 466,703
= 241,800
FENEELSAH(SEIMA) 1,898,503 438,972 1,459,531
= 1,190,000
J| 466,703
= 241,800
AP AEHE A L AIS2t2|H| (I XA IO Y 18,000 18,000 0
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J| 18,000
201 LEL2AH| 10,000 11,120 A 1,120
J| 10,000
01 AtR2teldl 10,000 11,120 N 1,120
J| 10,000
S0 A 10,000 11,120 A1,120
J| 10,000
Oldet==24]] 10,000
OF0IXIZAAMNSEI L BAE AIZ+-EHI
833,3332* 120 & 10,000
J| 10,000
202 04| 8,000 5,600 2,400
J| 8,000
01 =Wyl 8,000 5,600 2,400
J| 8,000
=01l A 8,000 5,600 2,400
J| 8,000
OJIE=ZAF L AFSE=RIAEHEZE 4]
20,000 x2H x200 8,000
J| 8,000
FOIX &AL 390,203 351,172 39,031
J| 390,203
307 212t0|™ 185,400 126,140 59,260
J| 185,400
02 DI2IAAAIE X 185,400 126,140 59,260
J| 185,400
=0 A 185,400 126, 140 59,260
J| 185,400
OFOUXSAS (REXH)
1,800,000 * 103AI CH 185,400




2N SZIIF
B ~ESADH(BT/ATAE - )
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| | 185,400
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J| 204,803
02 QIS AIE E X (01 M THE) 204,803 225,032 N20,229
J| 204,803
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J| 204,803
OF AN AL (2HE XA
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| 204,803
AR 2| XY 22| 12,500 17,000 24,500
J| 12,500
201 et23AH| 9,900 14,280 24,380
J| 9,900
01 AtR2teldl 6,400 10,560 24,160
| 6,400
204 & 6,400 10,560 A4,160
J| 6,400
Olet=&4l] 6,400
O3 HRFA =ZH|
533,333 * 1201 & 6,400
J| 6,400
02 S32g4| 3,500 3,720 N220
| 3,500
20 & 3,500 3,720 A220
J| 3,500
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J| 3,500
202 04| 2,600 2,720 A120
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J| 2,600
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J| 2,600
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J| 2,600
eEsAeHIES XA 46,000 51,000 A5,000
J| 46,000
207 HAFIHEH| 46,000 51,000 A5,000
J| 46,000
01 HARESHH| 46,000 51,000 5,000
J| 46,000
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01 BHalbl bl 1,800 1,800 0
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= 13,000
= 2,000
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= 16,050
OlHASAY|(FZINESESIAH ) (=EHA) 98,000 80,200 17,800
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FE: FHEZNE (A
&Rl = I

o
40
c
[0

S - BB BR(31) - NSAY - BES S SR b=
SAICIAEO! Bt 2,043,856 2,399,267 A365,411
FHEAIMNA (AL SR /=) 2,043,856 2,005,241 38,615
FEHAIY SYSIAH(FEHAIY) 2,043,856 2,005,241 38,615
=201 - 2T X2 3= 1,000 1,000 0
201 et2AH| 1,000 1,000 0
01 AtS2teltl 1,000 1,000 0
=0 A 1,000 1,000 0
Ol[et==&Hl] 1,000
oZ2MgH oKl S| ==&
100,000& *103] 1,000
S0 EXSHEAIS 21,000 29,000 A8,000
201 et Y| 2,000 2,000 0
01 AtR22teltl 2,000 2,000 0
=0 A 2,000 2,000 0
Olget+=&Hl] 2,000
OLH =28 ZHZell 228 2
500,000& 43| 2,000
202 04| 4,000 4,000
01 2L 4,000 4,000
=0 A 4,000 4,000
OUHZFHE AMT= L FSL3 SEA}
ol g 200,000&x20H *13] 4,000
402 QI2ERFE20IN 15,000 15,000
01 QIZEXEAIS B X (XM 15,000 15,000
S0j &t 15,000 15,000
OZdI0IE =8 XISoHAMKI
3,000,000& x5 15,000
FELAFY Ollgldl 2,021,856 1,975,241 46,615
801 OilHlbl 2,021,856 1,975,241 46,615
01 LBHaliblbl 2,021,856 1,975,241 46,615
20 & 2,021,856 1,975,241 46,615
(@] {1s11s]] 2,021,856,000&*13] 2,021,856
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